

```

 $\langle \mu_- \rangle := \mu / . t_- \rightarrow 1;$ 
 $tm_{x_, y_- \rightarrow z_-} [\beta_-] := \beta / . \{t_x | y \rightarrow t_z, T_x | y \rightarrow T_z\};$ 
 $hm_{x_, y_- \rightarrow z_-} [B[\omega_-, \Lambda_-]] := \text{Module} [$ 
     $\{ \alpha = D[\Lambda, h_x], \beta = D[\Lambda, h_y], \gamma = \Lambda / . h_x | y \rightarrow 0 \},$ 
     $B[\omega, (\alpha + (1 + \langle \alpha \rangle) \beta) h_z + \gamma] // \beta \text{Collect}];$ 
 $sw_{x_, y_-} [B[\omega_-, \Lambda_-]] := \text{Module} [\{ \alpha, \beta, \gamma, \delta, \epsilon \},$ 
     $\alpha = \text{Coefficient}[\Lambda, h_y t_x]; \beta = D[\Lambda, t_x] / . h_y \rightarrow 0;$ 
     $\gamma = D[\Lambda, h_y] / . t_x \rightarrow 0; \quad \delta = \Lambda / . h_y | t_x \rightarrow 0;$ 
     $\epsilon = 1 + \alpha;$ 
     $B[\omega * \epsilon, \alpha (1 + \langle \gamma \rangle / \epsilon) h_y t_x + \beta (1 + \langle \gamma \rangle / \epsilon) t_x$ 
         $+ \gamma / \epsilon h_y \quad + \delta - \gamma * \beta / \epsilon$ 
     $] // \beta \text{Collect}];$ 
 $gm_{x_, y_- \rightarrow z_-} [\beta_-] := \beta // sw_{x, y} // hm_{x, y \rightarrow z} // tm_{x, y \rightarrow z};$ 
 $t\Delta_{x_- \rightarrow y_-, z_-} [\beta_-] := \beta / . \{t_x \rightarrow t_y + t_z, T_x \rightarrow T_y T_z\};$ 
 $h\Delta_{x_- \rightarrow y_-, z_-} [\beta_-] := \beta / . \{h_x \rightarrow h_y + h_z\};$ 
 $B /: B[\omega1_-, \Lambda1_-] B[\omega2_-, \Lambda2_-] := B[\omega1 * \omega2, \Lambda1 + \Lambda2];$ 
 $Rp_{x_, y_-} := B[1, (T_x - 1) t_x h_y];$ 
 $Rm_{x_, y_-} := B[1, (T_x^{-1} - 1) t_x h_y];$ 

```